
If the World Were a Village 
 

In the book If the World Were a Village, the world's population (7,590,000,000) is represented in the imaginary 

village of 100 residents so that each resident is equal to approximately 76 million people from the real world.  

In the village, there are 100 people: 

   or      or   
In your opinion, which shows us the 100 people in the best way? 

In the village, 61 people are from Asia; 13 are from Africa; 12 are from Europe; 8 are from South America, Central 
America and the Caribbean; 5 are from Canada and the United States; 1 is from Oceania. How shall we represent 
this? 

This time 1 flag represents 1 person. 

   or  or  

What do you think? All of them show exactly the same information. 

Which representation makes you realise that there are 100 people? Which one makes you realise that there are 
LOADS more people from Asia than anywhere else? Which was easiest to count?  

Your task is to represent some more of the data from the book.  Here are some facts for you to create some charts 
about. It could be a pictogram, a bar chart, you could even use emojis, it’s up to you! 

Electricity: 76 have electricity. 24 do not. 

Water: 75 have access to a source of safe water either in their homes or within a short distance. 25 do not and must 
spend a large part of each day simply getting safe water. 64 have access to adequate sanitation - they have public or 
household sewage disposal - while 36 do not.  

Food: In the village, only 24 people have enough food to eat. 16 go hungry sometimes; 34 are always hungry; 26 are 
severely undernourished. 

Air: 68 breathe clean air, while 32 breathe air that is unhealthy because of pollution. 

Age: 39 people in the village are under 20. There are 42 people who are aged between 20 and 49. 18 people are over 
50 years old. Just 1 person is over 80 years old. 

School: Out of 38 children of school age, only 31 go to school.  The remaining 7 children don’t learn to read or write. 

Remember to make your charts clear and easy to read! 


